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QUESTION 1

You are deploying NetApp Cloud Volumes ONTAP to support a relational database workload. You must protect data
from an intermittent loss of network connectivity to a single zone in a public cloud data center.

Which Cloud Volumes ONTAP feature accomplishes this ta
A. end-to-end encryption

B. multi-zone high-availability (HA)

C. ONTAP storage efficiencies

D. intelligent cold-data tiering to object storage

Correct Answer: B

QUESTION 2

You are designing a solution using NetApp Cloud Tiering and want to Include details for the user on how to monitor
network latency and throughput, so that they can identify potential bottlenecks that could affect the tiering service.

In this scenario, which tool would you include in the design to complete this task?
A. Inactive Data Reporting

B. Amazon CloudWatch

C. NetApp Cloud Manager

D. NetApp XCP

Correct Answer: B

QUESTION 3

You are designing a cloud storage solution for a customer in Microsoft Azure with strict security requirements. They
want to use Azure NetApp Files and they require "krb5p" for all NFS traffic. The workload is highly concurrent and
mostly sequential.

In this scenario, how will throughput be affected?

A. Throughput will be significantly decrease

B. Throughput will be slightly increased.

C. Throughput will not be affected.

D. Throughput will be slightly decreased.

Correct Answer: C
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QUESTION 4

You are asked to design a monitoring solution for your Cloud Volumes ONTAP environment for AWS. You decide to
enable the Monitoring service in Cloud Manager. In this scenario, which two statements are correct? (Choose two.

A. You must configure alerts through the Cloud Insights user interface.

B. The Monitoring service displays the performance of clusters using the Active 1Q page in NetApp Cloud Manager.
C. You must have a pre-existing NetApp Cloud Insights tenant to enable the Monitoring service.

D. The Monitoring service deploys a virtual machine into your VPC.

Correct Answer: BC

QUESTION 5

A customer wants to design a solution that provides unique persistent storage when scaling a StatefulSet application.
The customer proposes using a volume claim template in the StatefulSet definition to generate a unique persistent
volume and use NetApp Trident to automate the provisioning of the persistent volume.

Which Kubernetes object would be used in this scenario?

A. HorizontalPodAutoscaler

B. CronJob

C. StorageClass

D. ConfigMap

Correct Answer: A
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